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Note : Question no. 1 is compulsory. Attempt any four 

questions from questions no. 2 to 7. Marks for each 

question are indicated against it. 

1. Attempt all parts : 

(a) Fill in the blanks : 	 4x1=4 

(i) Complex chewing organ present in sea 
urchins is called 	 

(ii) are 	the 	respiratory 
structures of insects. 

(iii) Ctenophores show 	symmetry. 

(iv) In gastropods, complete torsion 
involves twisting of visceral mass at an 
angle of  degree. 
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(b) State whether the following statements are 
True (T) or False (F) : 	 4 x 1=4 

(i) In most crustaceous, head and thorax 
fuse to form cephalothorax. 

(ii) The sponge body is covered by 
epithelium made up of choanocytes. 

(iii) Gastropods use radula for rasping the 

food. 

(iv) In insects, nephridia are the main 
excretory organs. 

(c) Differentiate between the following : 	2x2=4 

(i) Sensory and Motor neurons 

(ii) Oviparous and Viviparous animals 

(d) Choose the correct alternative from those 

given in parentheses : 	 3x1=3 

(i) Development of only females from 
the unfertilized eggs is called 
(arrhenotoky/thelytoky). 

(ii) Formation of gemmules is a 

mode of asexual reproduction in 
(cnidarians/sponges). 

(iii) Yellow fever is transmitted by the 

mosquito species of the genus 
(Aedes / Culex). 
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2. (a) Explain the Five Kingdom Classification 
Scheme of Whittaker in brief. 7 

(b) Discuss how the multicellular animals are 
grouped into different categories on the basis 
of coelom. 8 

3. (a) Describe the characteristic features of 

Phylum Annelida. 5 

(b) Discuss the process of feeding and digestion 
in Leeches. 	 5 

(c) Explain the difference between apposition 
eye and superposition eye of arthropods with 
suitable diagrams. 	 5 

4. (a) What is polymorphism ? Explain 
polymorphism in context with social 
organisation in termites. 10 

(b) Differentiate between open and closed 
circulatory systems. 5 

5. (a) Discuss the adaptations in Platyhelminthes 
that help them in leading a successful 
parasitic life. 8 

(b) Give the common and scientific name of a 
digenean parasite. Explain its life-cycle with 
suitable diagrams. 7 
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6. (a) Describe the structure and functions of 

water vascular system in starfish with the -

help of a suitable diagram. 	 10 

(b) Describe the different modes of sexual 

reproduction in protozoa. 	 5 

7. Write short notes on any three of the 
following : 	 5+5+5=15 

(a) Usefulness of non-chordates in agriculture 

(b) Epitoky 

(c) Respiratory pigments 

(d) Asexual reproduction — types and significance 
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ftT 	 114 ATA'R : 	 4x1=4 

(i) aTP4-41 1TRIT qT4airtt ARrt *IA 

awn atff 	twin t I 

(ii) 	(Qa 

(iii) N11:51( 
t I 

(iv) A.Itchl 4, Ti dT11 ar- Ttff *47 

Fes' 	fter 'WlurcIK 	t I 
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WIF PHRIRSII W4R 	 (T) # Ycia 

(F) : 	 4x1=4 

(i) alfiTOW 	 (st*Ditil) 4, -I* 'Ma 
441-  1.4t 	fOR-1--AT (14014-4TO 	 
# I 

(ii) 	 *T "PILit 34abC11 	Gcbl 1C11 t q)' 

.A4.1,1D14,131 	 Al- .411 	.141 
t 

(iii) 41tErYg it -4R- 	-14Tro4 1-Z.w1-4-dr WT 
4..(; ' 

(iv) d.  ', 411. eli t(9.0-1 ZR:rlf 

	

ak A-dr-47 : 	2x2=4 

(i) 4 	41 mu aIC1c Ov41) cnct;$1.44 

(ii) 3p-44 mu 	ATE 

(11) ch N6a, 4 	TR -1:14-*--4-  4 	ki 	l ra.4, 	-4 
11-4R 	 3x1=3 

(i) aTr-AN-ff aTut 4 earl Trgrall 
qzi-r cr>0 	? 31.1411-ffiti-4iq (4z-T-4)/ 

aTP44--*- 4-49-  (4-4eWr. ) 

(ii) iT 	T , 3Telfrr-  7-4-44 •r 
INA 1 	hk1 i ? (Rwiltzn/T47) 

(iii) 	 *1-4.{ (Ira. ) -51-4A * 
-1* 	 TAT 	? (fir/) 
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(Tr) 3TrAMT314 1:k.ri-rtirt aft mu awl -R-1cm aTTu 
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10 

(TO •g"'T -MAT 	 4 *II acw I 	5 

5. ()11--at. tP.:r-4117 4 2R-  3rj-t-641 * Ail 4 

WARf 	aAtui (-14)0 	 tR-A1-41 	:r--d=0 

ct)t 	# 
	

8 

faLl 	 1:Rt421.    MIT tOTP4 TIT 

A-dr4R I ticto Act-1-W, 31:izjffi rail -gm 

ki4ow 
	 7 
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6. () 3c1gT ray 	1 tmemi 4, k-dk 1 	t ' 
MIT cbleii 

trl'Ai 	 10 

tatalT 4 4fir* 7-4-4 * 	3A-€91 

au 	*A-R 	 5 

7. Pi-ifZiRgd 4 4f*---4f R9a. tR Tifk-Tca .  rauiReit 
fR : 	 5+5+5=15 

Tiif 4 aT**-i-Q-4 (non-chordates) t.  

(W) 7f4aWr 

(TO 	qelti-1 (\31.4) 

(14) aTAiim 7-4.4 — 5P:bit MR 4-Ira 
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